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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-2_0
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P3-2
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14:00 283 150. 0 2.583 E| {Rig014:00 B3h (RE{ERESE)
14:55 283 150.0 2.583 E BRige14:55 Bz (GRAERSE)
15:55 283 150.0 2.583 = {RRiB@15:55 B (REAKEE)
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P3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R
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08:20 283 150.0 2.583 S| {Ri%@08:20 B (KRAAERSE)
09:45 283 150. 0 2.583 F BRi%e09:45 BEh (RAERE)
11:00 283 150. 0 2.583 E| {Rige11:00 Bzh (RE{EREE)
12:05 283 150.0 2.583 =l {Rige12:05 B3 (REAERSE)
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13:50 283 150.0 2.583 5| {Ri%e13:50 B3 (RAERSE)
14:45 283 150.0 2.583 = RRiB014:45 Bz (RFEAEESE)
15:50 283 150. 0 2.583 E BRi&e15:50 Bz (GRAERE)
21t 2547.0 (9%) 1350.0 3EIHKEC: 2200, PH: 6.0

FEREHERE STEELRF (182.0

BRINSEPRERL144. 0 ml.
FRAVE NS KFHZPH 6. 005
FRAE NS RIFEREC 2200. 0

144.0), AIEERT—@E XAH5
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